couuvnNENro3NrL  Snpupwlyng nnh hwpunhp bEyupnGuwhG wémpnh wjwpnmp
hwpgwnplyuwjhl dwd t hwiwpynud jujpnud nfjwy nnh Ybpwpbpyup owlnignuip hpuwuwywpuytm 10-
nn opjwl hwonpnnn wluwwmwlpwihl opdw hwiwwwunwuhiwb dwip: 3nipupwlynp sfujugud
hwpuwnhp wdémpnhg htwn® Gppnpy whuwwmwlpwhG opp, Juwjpmd ghwmbnymd £ ypyGuyh
hwnplunhp tiimpnGuihG wénmpnh npjuo nnh dwuhlG dwlnignuip:

Gpb wdmpnp sh Jujwugh) qlnpn sthGhmne jud nnh dEyGwpluyhl qGh hwybmd sjuumwpybn
hpipny, wyw hwenpn hwplunhp wdnpn Juquwlbpytinig yuwdwnynn nnh dkyGwpyuihG qhGa
hotigynud £ Gwjunpny wénpnh hwdwp vwhiwljwo dtyGwpyuihl qlGh wwup wnlnuh swhny:
Gpt wanipnp sh Juwjwghl glnpnh Ynnihg nnp qGdwl ghlGp vwhdwijuwoe dwdbnnwd syawpybne ud
wnnujwdwnph wwjiwlwghpp sgunnpugpbne hhdptpny, www nunh dtyGwpyuwjhl qGh hohgnud mtinh
sh mlbinud:Gpt uwpnmuwwwt mbGh w)p gnyp, wwyw nunh dtyGwpyuwihlG qhlp wnwulbpnpn
hwplunhp wénipnhg htinn hwenpn wémpnitpnd sh hetigynud:

Gpt wuwpnwuwwlp ynmbh wy gnyp, wyw hwenpn wénpnlibpnud (nunp deYGwpyuwjhG qhGp sh
hotigynud puwGtipnpny hwplwnhp wénipnp sJujwlwm nhiypnud:

«pwywpwliuwihl vwljwnpynipyniGibph dwuhl» << optiliph 35.4 hnnwoh 4-pn, 5—nn W 6- py
dwubtiph hwdwdw)G  Gpypnpn b jnupuwpwlynip htppwlwl wdnipnhg htuon, puop / gnypp /
squawnybnt nhypnud wwhwlowwmbpp wdmpnh wjwpnhg htmn Gpym whiwmwlpwjhl opdw
pipwgpmu hpunilp niGh wwhwloh nhiwg wjyl plnmlhnd wyn wénpnh dGyGwpluwjhG glny:
Muwhwowwnbpp wwhwleh nhiwg nunp hptl hwGdibn ykpwpbkpjuw) gpuynp wyuwhwep Jupnn L
Gtpyuwjwglb] <wupunhp uunwpnidh wyywhnynn swnwjmpniG® dhiy sjuwjwgwd wanipnhg htinn
tipypnpn wluiwnwGpujhl opduw wjwpnp:

Qnuypp  /Anunp/  wwhwlowwnhpnep hwGdlynd E  JtpphGhu  Ynnihg Juwwumwpnnujw@
gnponnmupjniGltph  JuwuwpiwlG owjuubpp  Jowpbnwg, hull qouph /innp/  hwGdGuwd
Juuyuwlgmpjuip hwpybp Joéwpbim  ywpowlwlnpmli wnwowlwnt phypmd  G(wlb  nppuw
Juwuwnnuip hwjwumnn hwunmwpnptpp GipYjuwjwuglbing htnn:
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